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ECE-300, Quiz #8
1) Consider the signal 
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. The functions 
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are orthogonal.  The average power in this signal is

a) 13     b) 6.5   c) 5     d) none of these

2) Consider the signal 
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. The functions 
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 are orthogonal.  The average power in this signal is

a) 13     b) 6.5    c) 5    d) none of these

Problems 3-5 refer to the system with filter 
[image: image8.wmf]21||2

()

0

j

e

H

else

w

w

w

-

ì

<<

=

í

î


3) This filter is a 

a) lowpass filter   b) highpass filter   c) bandpass filter   d) bandstop filter

4) If the input to this system is the signal
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, the steady state output will be

a) 
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       b) 
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c) 
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       d) none of these

5) The impulse response 
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 for this system will be time limited
a)  Yes   b) No   c) Not enough information to determine

6) Consider the system with transfer function
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. Is the corresponding impulse response 
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 real?

a) Yes    b) No   c) Not enough information to determine

7)  Consider the system with transfer function
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.  Is the corresponding impulse response 
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 real?

a) Yes   b) No   c) Not enough information to determine
Questions 8-12 refer to the following plot of the input signal
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 and the output of the filter 
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8) The best estimate of 
[image: image22.wmf](0)
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 is 

a) 0.5     b) 1.0   c) 1.5   d) 2.5 

9) The best estimate of 
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 is

a) 0.0    b) 0.2    c) 0.5    d) 0.8
10) The best estimate of 
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 (the phase of the filter at frequency 
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)  is

a) -0.5    b) -0.5j   c) -0.5
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11) The best estimate of 
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 is
a) 1.0     b) 1.5   c) 2.0   d) 2.5 

12) Is this filter distortionless?  

a) Yes   b) No
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